M & 0 & AF Y E A A
20099 &= =0l &k LBt A JIEFS 82 A
M AL
HH: TZAE BY - 22
ool E2EE 9 RX22 (CHel: &)
A -3 -H2A(SH) - HEAMY - BES O AF K gl,'igig Hlws2
Fak=ni; 2,884,672 2,566,978 317,694
Al 1,300,000
- 1,584,672
SZ2A4 Fd| - 2el 1,964,023 1,657,005 307,018
Al 1,300,000
- 664,023
c2Es ¢ FA2a 1,950,000 1,650,000 300,000
Al 1,300,000
- 650,000
2EE=s 2 2 g3 ST 2FY| 500,000 0 500,000
Al 500,000
401 Al ABIZ20HYI 500,000 0 500,000
Al 500,000
01 A&l 493,000 0 493,000
OPS2S ¢ HEY Y 2| 493,000
Al 493,000
03 AIZ=0HHI 7,000 0 7,000
OREBS ¢ LHZ A2 =2HY| 7,000
Al 7,000
E2ZFEF L HWEsFHI 650,000 650,000 0
401 Al 4Bl =204 650,000 650,000 0
01 Al&HI 650,000 650,000 0
OEz2x832 600,000
= ASP 3,000,000& *100a 300,000
SCON'C 2,500,0002! *80a 200,000
oBE 2,000,000& *30a 60,000
= ASP 1,000, 000& *40a 40,000
Osall& HeEY| 1,000,000 & *507H 2 50,000
Hel=gd 93 Jt2E 800,000 0 800,000
Al 800,000
401 Al&HIZL2C0HYI 800,000 0 800,000
Al 800,000
01 Al&HI 795,000 0 795,000




2 A4
Hz: TZAIE FHH| - 22

ol S2EE U KA (5l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
SIEEEEIEEEEET 795,000
Al 795,000
03 Al&=CHl 5,000 0 5,000
Olilzl=Ea 2@ 12 IY) 5,000
Al 5,000
c2Aane 14,023 7,005 7,018
cRANLE ARET 14,023 7,005 7,018
201 LPr2y| 11,073 5,005 6,068
01 AtR2tell 10,223 4,155 6,068
OBATH MRS 1,030
oE2E BXI(A1) 30,0002 ¥544 Xt 150
oZ2H Z2Y3 100,000 *3} 300
oZ2F =93 60,0002 374 180
oHDplE ZoY3 60,0002 *47H 240
oHRIE =83 40,0002 <44 160
OAEAY HHUTH L TSHZA 1,125
oAl 1,0002 *6000H 600
oA 3521+ 15,0000 525
OHHEH TNESAAE ALK 500
Oc2e Y24y I 1,200
OAutoCAD LT 1,254,000 *2: 2,508
OSGS(AE&A - A AIAE)
3,300, 00024 +1 3,300
OZE2HAIARS Ha4Y
70,0002 x2%3 43| 560
0 I 850 850 0
OO0IExt 282 65,0002 #2CH 130
OO0EX R - +2 30,0002 *2CH + 122 720
203 AREXY| 2,000 2,000 0
038 AMFZALFaY| 2,000 2,000 0
OALAHER 2,000
405 XtarE S| 950 0 950
01 KHAYASEF S| 950 0 950




2 A4
Hz: TZAIE FHH| - 22

CHel: S22 A& 22 (St &)
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
OCIXIEotulet 300, 000& *2CH 600
OB AAESI WA 350, 000& = 1CH 350
S AR 441,603 407,540 34,063
T AIDIBHAIE 22| 235 325,983 293,480 32,503
AAEF0IEHAAS 282,503 250,000 32,503
401 AIEZHIZLE204Y] 282,503 250,000 32,503
01 Al&H| 282,503 250,000 32,503
OAFE2 FOIEHAAIS 282,503
gtel ™ol Bak =X 43,480 43,480 0
201 LErEAH| 1,480 1,480 0
01 AtR22ld] 1,480 1,480 0
Olga sJ| =4sX 5,000& =100AH 500
OZEHI =42 500
OKNZEE3) AKX E2A=22(33.1m)
40,0002 * 122 480
401 AN&HILLHY 42,000 42,000 0
01 Al&H] 42,000 42,000 0
Oonl=22X & & e 2432 42,000
JIBEAIAE 2tel (DIBHAIA) 111,110 108,500 2,610
JIBtAIE &5 111,110 103,500 7,610
401 AIEHIZL 204 111,110 103,500 7,610
01 Al&H| 111,110 103,500 7,610
OJIBAIE &5 & 22| 111,110
T AIH & 2t el 4,510 5,560 A 1,050
TAHEHRZFA 4,510 5,560 A 1,050
201 2et2Ad| 4,510 5,560 A 1,050
01 AtR2t2iY| 4,510 5,560 A 1,050
OZANHE zEH31Z 1,800, 000& *x23| 3,600
OSAHEAS Ha2g
70,000& *13H * 13| 910
S Al OF2ERHAIAE 2t2] 311,638 366,462 N54, 824
OF2td 2o 280,638 237,962 42,676
28 ¥ Bots 22| 280,638 237,962 42,676
201 LBtEAd] 239,072 198,396 40,676




S A4

ZH: TAl OFAZEAIE 22
Chol: OF2HA RN M
SA BB CR(SH) - NRAY - A S Ol o e
0 4 o
02 23293l 239,072 198,396

OXGtEE: &Il= 10,692
oJlara 4,257 39 5KW+201 A+ 122 a1

cxAARD
58. 43 x9 . BKW+24h*2JH A~ x365 9,721
OJt2s HIIe=s 94,651
ollega 4,257 %3KWx 11071 A * 122 16,858

=)
58.4& *1,6225 *0. 25KW*0h+365 77,793
O=¢ots M= 25.433 %1, 7415 «95KWx 128 50,472
ORguxz =¥ &Iz 3,786
oJlakad 4, 2573 *x17KW« 128 869

oMz
58.43 x16S*0. 95KW+9h+365 2,917
OPIFFZE d&xd &Iz 12,529
ollEra 4, 2573 x7T0KW« 122 3,576
oMAHRS 58. 43 x70KW+6h*365 8,953
OHotRE sNxH Mz 2,187
=Jl=R3 4, 2573 x9KW= 128 460
oMAHLRS 58. 42 *9KW+9h*365 1,727
Oligtets s0 F2xd MI|=2 2,430
oJlarad 4,257 x10KW« 128 511
ocMAHARF 58. 43 x10KW+Oh*365 1,919
O=gd 28 &= 3,645
=JI223 4,257 3 «BKW*30H 2o 12 767
oMAHRS 58. 43 x15KW+9h*365 2,878
OZHMAIE ANEE=z AEOIX MIZ 972
=Jl=k3a 4,250 x TKWx4 I A+ 128 204
oMAARF 58. 42 *4KW+0h+365 768
OWEZ(IMAIZR)AAOX ®IE 2,187
oJlara 4,257 3 *3KW*30H 2o x 12 460
oMAHARF 58. 43 x9KWx9h+3652 1,727
O3 HYE==3 4E0X &II= 730




S A4

ZH: TAl OFAZEAIE 22
Chol: OF2HA RN M
SN EY O (BH) - MRAY - BLS 01l & o e
oJlEra 4,257 «x3KW«12& 154
ocMAHARF 58. 43 x3KWx9h*3652 576
Osfu =SA0IAEXE &2 1,459
=JI2e3 4,257 3 x3KWx204 2«12 307
oMAHRF 58. 43 x6KW*9h*3652 1,152
O&=Es MIsd dMIgs 730
<23 4, 2573 x3KW= 122 154
ocMAARF 58. 42 *3KWx0h+365! 576
0S4 SlALE B2 244
ollEra 4,257 x1KN«12& 52
oMAARF 58. 43 x 1KW*9h*3652 192
OZ=xs #ZH AUHEXE MI= 1,216
o233 4, 2573 x5KW+ 128 256
oMAHRF 58. 42 *5KW*+0h*365 960
Os&s == 4Z¥xg=E dHII=E 244
oJlarad 4,257 x1KW«12& 52
ocMAHARF 58. 43 x 1KWx9h+3652 192
O Sgd==XE 2432 xd &M= 487
=JI223 4,257 «2KW=12& 103
oMAHRS 58. 43 x2KW*9h*3652 384
OZ==2 Z2X28 2 g2 Mg 1,459
<23 4, 2573 x6KWx 128 307
ocMAARF 58. 42 x6KW+0h*365 1,152
O&F=E2 =3Ad &Iz 17,482
oJlara 5,676 x8KW+3JH 2= 10& 1,363
oclMEAHRS 3003 *8KW*10h*300 7,200
oJlarad 5,6763 x25KW+ 101 2«10 1,419
oclMEAARF 1,000 *25KW=1JH 2~ *300 7,500
OXtsxt SRS Z 160, 0002 *1CH»23] 320
OLdIAICI2IX EE =2 270,000& = 1CH 270
OZ&XTHAE KXl 26,300




S A4

Ha: A OFFEYAL e
Sl OFFA M (e9: @8

SA - HY-BR(EH) - NRAY - BES prol gz "
oFu XY 1,000, 0003 *49H 2 4,000
o0t2lgel &L 80,000, 000& *2% 1,600
o= Z&XY 360,000,000 *2% 7,200
oPIFFZE Z2 XY 675,000, 000& *2% 13,500

OXotE2X HlatgdI| |2
7,200,000 *2LH *6% 864
O=J| KAl2el 900, 000& *4CH 6% 216

OXItAICI2IZHTHE) | X
3,500,000% = 1CH 3,500
206 M=l 41,566 39,566 2,000
01 M=zl 41,566 39,566 2,000

o228 E=THH 21,055
oLIEE = (250W) 17,5003 2001 122 4,200
o LIEEHE I (250W) 19,5003 * 1001122 2,340
o 0l 2 24 = (400W) 20,0002 34 *12& 720
o HIEHE D1 (400W) 24,0003 #2)4 =128 576
ol &= (175W) 16,5002 x 1001 12& 1,980
o NI tE I (175W) 21,5003 #4H~128 1,032
oLIESZ Z(150W) 16,5002 *3IH 12 594
o UESHE I (150W) 17,0003 *4J1 ~ 122 816
o 0l 2 24 = (250W) 17,000& 1001~ 123 2,040
o Ol & etE Dl (250W) 23,2503 #4 0 x 128 1,116
oMUY SII7 50,7603 *x2J4x 12 1,219
= OHE DA H 7,500 «20 « 128 180
=Jt2J|20| 10,0002 #2128 240
oM (HIEAHOS) 1,000 *1,996M 1,996
o &« (DV2.6mm) 525 *1,000M 525
cdg=2gE 45,0003 20123 1,080
otZ2SF 200,470 204 401
OXot2E 2=XM 2,095
o¥Zgn 1,610& 1001123 194
og&dSety Y| 19,8002 *x8IH 12 1,901




2 A4
M T Al OF2AERGAIE 22

Chl: OF2tA BN LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OJIZSHHNE 24Xt} 7,540
oAts&EZ | 400, 000& =101 4,000
SPSPATSE=P] 45,0003 204 900
o =& XS] (50A) 45,000 *20H 900
o =& XS] (30A) 35,000& %204 700
ot && x| (50A) 28,000 *20H 560
ot = XS (30A) 24,000 204 480
OHEos BN 10,876
o UHEEZ I (100W) 16,000 20 = 122 3,840
o ULIEECHE I (100W) 15,0002 1001 = 12& 1,800
o =M XS (15A) 11,0003 10 =122 1,320
o A X|IE 2, 7002 *5J 128 162
oHoSAsSEED 45,000& x5 12 2,700
o8goESI|IF 21,940 4l = 12& 1,054
s ,Bos &5 ¢ &2 bl 31,000 128,500 AN97,500
28, E0tS &H| 31,000 128,500 97,500
401 AIEHIZL 204 31,000 8,500 22,500
01 Al&H] 31,000 8,500 22,500
OBots dI7 &X 300,000& x20S 6,000
OJtz2s=+F A 500,000& x10& 5,000
Ozs &= - 58 82 bl
5,000,000& x4l A~ 20,000
Kot L Sl AIEE 22| 102,278 69,261 33,017
ot AEE A5 22 1,400 1,400 0
ol AIEE B 2 Myl 1,400 1,400 0
201 B2 IH| 1,400 1,400 0
01 ArR2t2|tl 1,400 1,400 0
Odl4+== A2 H=DI| &l
130, 000& *10IH A~ 1,300
Odt== AIEE g™ S 100
Nat4ol MFe =D el (Xstazel) 100,878 67,861 33,017
Not=0|EFE= 222 7,888 7,600 288
201 LErEIH| 7,888 7,600 288




SAN AL
g Aot H St AESE 2L
el Xok=ol M5 2E0 2el(Xst=2e) (&2 &a
_ _ PSS
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 HlusZ
01 Ar=2teldl 6,688 6,400 288
O0lsFEs FUES 4,000
cUXM, S5E, X S 2,000
odd, EH S 2,000
OXNot=gRFa Sl
7,0003 x4 «8L <12 2,688
02 55234 1,200 1,200 0
Ougsz 2,000& x50 x 122 1,200
Not=2te| HE =8 & SEXZA 840 840 0
201 LetEgll 840 840 0
01 Atz el 840 840 0
OXot=2tel?ds B+
70,0003 6% x23| 840
Aot 28 - 2l 36,000 0 36,000
401 AEHIZ 204 36,000 0 36,000
01 Al&H] 36,000 0 36,000
OXlot 2x2=2 5 &X & RUE+ 30,000
o&d=d 5,000
oRAEANA 8,000
o FAAEY 17,000
OAXlots &XEs 2457
3,000,000 *2J4 2~ 6,000
GieIgIs a2 56,150 59,421 A3,271
801 oilBldl 56,150 59,421 A3,271
01 oiigigl 56,150 59,421 A3,271
Oolel sl 56,150
AY2IFHI(AL) 65,130 66,710 21,580
olg2ay 4,200 4,200 0
SFANES AHE2FY] 4,200 4,200 0
203 ERFAY 4,200 4,200 0
04 FA=EERFLM 4,200 4,200 0
OFMNEHE2E 350,000 122 4,200
Jl22Zd 60,930 62,510 A 1,580
SAII=3HI 60,930 62,510 A 1,580
I




SAM AL
M AL (ALD)
Crel: D=2y CLRED
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- = ° T ° . [= Bl e =5 O:H{ﬂ_% Lsa
201 LBHEHH| 9,090 7,790 1,300
01 At=2teldl 9,090 7,790 1,300
FAE2YE JIE2+EH| 253,000 *18Y 4,554
OJlsges8 gt 252,000& »18H 4,536
202 O4Hl 51,840 54,720 A2,880
01 3L 51,840 54,720 22,880
OJI2ge=8 0l 240,000 18H «12& 51,840




